y2+2xy+x*+3y=4 6x2 —7y% =26
xZ—|x—1=1

2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—-320=0 x*—10x2+9<0
y2+2xy+x*+3y=4 6x2 —7y% =26
x?—|x—1]=1
2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—320=0 x*—10x2+9<0
y2+2xy+x*+3y=4 6x2 —7y% =26
x2—|x—1]=1
2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—320=0 x*—10x2+9<0
y2+2xy+x2+3y=4 6x% — 7y% = 26
x> —|x—1| =1
2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—320=0 x*—10x2+9<0
y2+2xy+x2+3y=4 6x% — 7y% = 26
x*—lx—1=1
2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—-320=0 x*—10x2+9<0
y2+2xy+x*+3y=4 6x% —7y% =26
x2—|x—-1]=1
2x+y=1 5x% + 2y? =53
x3+2x2—-15x =0 5x6—-320=0 x*—10x2+9<0
9x —{7x+6-[5—4-(3—-2x)]}=50—-(8—x) Bx+4)-2x—-5)=6-(x—2)-(x+2)—7x

2x+5 6x —8

131 —4-(10 — 13x) = 4 (x + 5)? — (2x — 3)? (alaphalmaz: Z) - -

— x = 4 (alaphalmaz: N)

2 2—-x X 2x+3 . .
_ _ _ . . . £ 9
1T r11 1 o <-2 Melyik a legkisebb természetes és a legnagyobb valds megoldas?

Mennyi egész megoldasa van az A\M — nek, ha A = ]3;2023[?



